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1. What is stability factor? Co1 L1 1M
2. Why_ common emitter configuration is most widely used in co1 12 IM
amplifiers.
3. Define trans conductance. CO2 L1 IM
4, State the drain current equation of JFET. CO2 L1 1M
5. What is gain-bandwidth product? CcOo3 L1 IM
6. What is Darlington connection? COo3 L2 1M
7. Define De-sensitivity. CO4 L2 M
8. Write about the effect of feedback on distortion in an amplifier CO4 L2 M
9. Distinguish Phase sift oscillator and Wein bride oscillator CO5 L2 M
10. State Barkausen criterion. CO5 L2 M
Section B (Essay Questions)
Answer all questions, each question carries equal marks. (5 X 10M =50M)
11. A) Dra\_zv. the voltage divider bias circuit of BJT and also derive its col L3 10M
stability factor.
OR
B) Draw the hybrid model for a CE amplifier with an emitter resistance . v
. . . CO1 L3 10M
and derive input resistance, output resistance, Av and A
12. A) Outline the small signal model of MOSFET and derive its co? L2 10M
parameters.
OR
B) Summarize the small signal amplifier for common gate and derive
the expression for voltage gain, input resistance and output CO2 L2 10M
resistance.
13. A) Expl_aln Hybl:ld —1t model of Common Emitter transistor model with CO3 L2 10M
required details.
OR
B) Draw the Cascode amplifier and explain its operations. CcOo3 L2 10M
14. A) i) Elaborate the characteristics of negative feedback. L2 SM

ii) In an Amplifier , the Voltage gain without feedback is 60 dB. It CO4

decreases to 40 dB with feedback. Calculate the feedback factor. L3 M
OR
B) Explain the Current series and Current shunt Feedback configurations Co4 L2 10M

with neat circuit diagram.
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15. A) With a neat diagram, explain the working principle of Wien bridge

oscillator. COs5 L2 10M
OR
B) dE;};lrz;lIrrll the working principle of Hartley oscillator with a neat CO5 L2 10M
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